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Executive summary 

This report presents: 

1. estimates of the impacts of repealing step-up of basis on the US economy and 

2. case studies illustrating the potential impact of repeal on family-owned businesses. 

Analysis shows that this tax increase, whether via tax at death or carryover of basis, will have 

negative impacts on family-owned businesses, US gross domestic product (GDP), and job 

creation both in the immediate and long term. Repeal of step-up of basis would impose a tax 

burden on top of the existing estate tax regime, further compounding these negative impacts. 

Background 

A capital gain is a measure of an assetôs appreciation in value over a period of time. In the usual 

case, a capital gain is the difference between the amount received when an asset is sold and the 

assetôs basis, which is the purchase price plus a number of adjustments such as depreciation and 

the value of improvements. Typically, capital gains are taxed when an asset is sold.  

Untaxed appreciation could be measured and taxed when the asset or business owner dies and 

the assets or businesses are transferred to the heirs. However, a longstanding provision of US 

tax law, in place since the Revenue Act of 1921, is that a capital gains tax is not imposed when 

assets are transferred at death to an heir. Furthermore, tax law allows the heir to increase their 

basis in the bequeathed assets to fair market value without paying capital gains tax. This is 

referred to as a step-up of basis. The basis step-up prevents a potential future capital gains tax 

on inherited assets by removing from taxable gain the appreciation in the assetôs value that 

occurred during the decedentôs ownership. If the heir were to sell the asset in the future, then 

capital gains tax would generally apply to appreciation in the assetôs value from after the 

bequeathal. 

For example, suppose a business was purchased for $1 million and valued at $5 million at the 

time of the ownerôs death. Under current law, there would be no tax on the $4 million appreciation 

that accrued during the ownerôs lifetime. The heirs would take the $5 million value of the business 

as tax basis ï the basis would be ñstepped-upò by the $4 million unrecognized capital gain without 

having to pay tax on that gain. Were the heirs to sell the business in a future year for $7 million, 

they would owe capital gains tax on just the $2 million in appreciation under their ownership.  

There have been a number of proposals to repeal the step-up in basis at death and so tax capital 

gains that were not recognized during the decedentôs lifetime. One is to tax gains at death ï to 

deem death to be a ñrecognition event.ò The second is to replace basis step-up with carryover of 

the decedentôs basis. 

Ʒ With tax at death, the transfer of the asset would be treated as a recognition event and 

capital gains taxes would be paid at the time of the decedentôs death. The tax would be 

imposed on the fair market value of the asset received less the decedentôs basis. This tax 

would be in addition to any estate taxes owed by the decedentôs heirs. The heir would 

then take a fair market value basis to prevent double taxation in the future. 

Ʒ With carryover of basis, the transfer at death would not be a recognition event, so no 

capital gains tax would be paid at that time. However, the heir would not be allowed the 
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step-up of basis. Instead, with carryover basis the heirôs basis in the bequeathed asset 

would be the same as the decedentôs basis prior to death. As a result, when the heir sells 

the asset, the heir would be liable for capital gains tax on any appreciation in the assetôs 

value that occurred during both the decedentôs and the heirôs ownership. 

Returning to the example above, under tax at death the founderôs heirs would owe capital gains 

tax on $4 million of gains upon inheriting the business. Under carryover of basis, the heirs would 

not pay tax at death, but upon selling the business for $7 million, they would owe capital gains tax 

on $6 million in gains (i.e., $4 million in appreciation under the founder plus $2 million in 

appreciation under the heirs). Both cases represent a significant tax increase over current law, as 

the gains subject to tax are $6 million for both tax at death and carryover of basis (generally with 

only a difference in timing) as compared to $2 million under current law. In both cases, 

appreciation during the decedentôs lifetime eventually is taxed, assuming the asset is sold, 

although the tax is paid much sooner when gains are taxed at death than when carryover basis 

is allowed. 

While the primary focus of this report is on taxing gains at death, the report also outlines some 

similarities and differences between the issues caused by taxing gains at death and those caused 

by carryover basis and in an appendix presents macroeconomic estimates for carryover basis.  

Key macroeconomic results 

By raising the tax burden on investment, the repeal of step-up of basis via tax at death increases 

the cost of capital, which discourages investment and results in less capital formation. With less 

capital available per worker, labor productivity falls. This reduces the wages of workers and, 

ultimately, GDP and Americansô standard of living.  

This report estimates the repeal of step-up of basis via tax at death to have the following economic 

impacts:i 

Ʒ Job equivalents. A significant portion of the burden of repeal of step-up of basis would 

fall on workers through reduced labor productivity, wages, and employment. Repealing 

step-up of basis via tax at death is estimated to decrease job equivalents, by 

approximately:ii 
 

Ʒ 80,000 jobs in each of the first ten years; and 

Ʒ 100,000 jobs each year thereafter.  

Additionally, this analysis estimates that for every $100 of revenue raised by repeal via 

tax at death the wages of workers would decline $32. That is, the burden of the tax is such 

that nearly one-third of every dollar of revenue raised comes out of the paychecks of US 

workers. 

Gross domestic product. Repeal of step-up of basis via tax at death is estimated to 

decrease US GDP by: 

Ʒ $10 billion annually or  

Ʒ $100 billion over 10 years.  

 
i Estimated dollar amounts are presented relative to the size of the US economy in 2021. 
ii Job equivalents summarize the impact of both the reduction in hours worked and reduced wages.  
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Ʒ Impact on family-owned businesses. In addition to a reduction in US GDP, wages, and 

jobs, the repeal of step-up of basis could result in significant financial and administrative 

problems for family-owned businesses and for the Internal Revenue Service (IRS):  

 

Liquidity impacts. Many family-owned businesses have value tied up in illiquid land, 

structures, and equipment that may need to be liquidated, or leveraged to finance loans, 

to pay for the new tax burden at death. This is because the size of this one-time capital 

gain tax can be much larger than the annual income of the business, necessitating 

liquidation of key assets, or taking on significant new debtðlimiting the businessô viability 

as an ongoing concern.  

 

Increased compliance costs/disputes with IRS. Family-owned businesses may also find it 

difficult to comply because of problems in determining the decedentôs basis and in valuing 

the bequeathed assets. It seems likely that these administrative problems could lead to 

costly disputes between taxpayers and the IRS. Additionally, if sufficient evidence is not 

available to prove basis, then $0 may be used for tax purposes. This may result in an 

inappropriately large tax at death.  

Repealing step-up of basis via carryover basis 

While carryover basis delays payment of tax until inherited assets are sold, once the asset is sold 

the total tax bill will be the same as if gains were taxed at death. This delay of tax payment 

changes the timing of the tax burden, but as a tax increase relative to current law it still 

discourages capital formation and has macroeconomic effects similar to, but smaller than, those 

from taxing gains at death.  

Compared to taxing gains at death, carryover basis may mitigate liquidity concerns because no 

tax is triggered until the assets are sold. Nonetheless, it leaves in place challenges in documenting 

and tracking basis that can inappropriately increase tax bills and increase tax compliance costs 

and disputes with the IRS. A previous attempt to implement carryover basis, the Tax Reform Act 

of 1976, was initially postponed three years by the Revenue Act of 1978 and ultimately repealed 

before ever being implemented by the Crude Oil Windfall Profit Tax Act of 1980. Prior to repeal, 

tax practitioners noted significant difficulties in attempting to determine the basis of inherited 

assets. 

Interaction with the estate tax 

In discussions of US policy, taxing gains at death would not be accompanied by repeal of the 

estate tax. Rather both would be imposed. Taxing gains at death on top of taxing an estate can 

create a very high tax burden. For example, with a potential estate tax rate of 40% and capital 

gains tax rate of 20% this double taxation of gains could result in a 52% tax rate, assuming that 

the capital gains tax is deductible from the estate tax. That is, for every $100 of gain the heir would 

only receive $48 and remit the other $52 in tax. This high tax burden can be especially problematic 

when the primary asset in the estate is a business as there may be little cash available with which 

to pay estate and capital gains taxes. Furthermore, repeal of step-up in basis would make death 

a taxable event even for families below the current estate tax exemption threshold ($11.7 million 

in 2021)ðsignificantly broadening the scope of the United Statesô death and inheritance taxes. 

Some other countries, for example Canada and Australia, that tax capital gains on inherited 

assets do not have this double taxation via additional estate or inheritance taxes. Rather, taxing 
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gains on inherited assets is a substitute method of taxing wealth transfers. In the United States, 

both the estate tax and any efforts to repeal step-up in basis will create cash flow problems for 

family businesses and increase the likelihood that these job creators will be forced to close or 

liquidate part of their operations, resulting in job losses and economic damage. 

Figure ES-1. Repeal step-up of basis via tax at death 

  
Note: Job-equivalent impacts are defined as the change in 
labor income divided by baseline average income per job. 
Changes relative to 2021 US economy. Long-run denotes 
when the economy has fully adjusted to policy change; 
generally, 2/3 to 3/4 of this adjustment occurs within 10 years. 
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Repealing step-up of basis on inherited assets: 
Macroeconomic impacts and effects on illustrative family 
businesses 

I. Introduction 

A capital gain is a measure of an assetôs appreciation in value over a period of time. In the usual 

case, a capital gain is the difference between the amount received when an asset is sold and the 

assetôs basis, which is the purchase price plus a number of adjustments such as depreciation and 

the value of improvements. Typically, capital gains are taxed when an asset is sold. The top long-

term statutory capital gains tax rate is 20%.1  

Untaxed appreciation could be measured and taxed when the asset or business owner dies and 

the assets or businesses are transferred to the heirs. However, a longstanding provision of US 

tax law, in place since the Revenue Act of 1921, is that the transfer of assets at death to an heir 

does not trigger a capital gains tax. Furthermore, tax law allows the heir to increase their basis in 

the bequeathed assets to fair market value without payment of capital gains tax. This is referred 

to as a step-up of basis.2 The basis step-up prevents potential future capital gains tax on inherited 

assets by removing from taxable gain the appreciation in the assetôs value that occurred during 

the decedentôs ownership. If the heir were to sell the asset in the future, then capital gains tax 

would generally apply to appreciation in the assetôs value from after the bequeathal.  

For example, if a business was purchased for $1 million and valued at $5 million at the time of 

the founderôs death, it would have a tax basis of $5 million for the founderôs heirs (i.e., the $4 

million in appreciation over the founderôs lifetime contributes to stepped-up basis for the heirs). 

Were the heirs to sell the business in a future year for $7 million, they would owe capital gains tax 

on just the $2 million in appreciation under their ownership.  

There are two ways that the step-up of basis can be repealed. One is to tax gains at death. The 

second is to replace basis step-up with carryover of the decedentôs basis.3  

Ʒ With tax at death, the transfer of the asset would be treated as a recognition event and 

capital gains taxes would be paid at the time of the decedentôs death. The tax would be 

imposed on the fair market value of the asset received less the decedentôs basis. It would 

be in addition to any estate tax owed. The heir would then take a fair market value basis 

to prevent double taxation in the future. 

Ʒ With carryover of basis, the transfer at death is not a recognition event, so no capital gains 

tax is paid at that time. However, the heir is not allowed the step-up of basis. Instead, with 

carryover basis the heirôs basis in the bequeathed asset is the same as the decedentôs 

basis prior to death. As a result, when the heir sells the asset, the heir is liable for capital 

gains tax on any appreciation in the assetôs value that occurred during both the decedentôs 

and the heirôs ownership. 

Returning to the high-level example above, with tax at death the founderôs heirs would owe capital 

gains tax on $4 million of gains upon inheriting the businesses and, when they later sold the 

business, would owe tax on the $2 million in appreciation that occurred during their ownership. 
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With carryover of basis, the heirs would not pay tax when they inherited the asset from the 

decedent but would pay tax on the $6 million gain realized when they sold the business for $7 

million. 

This analysis presents: 

1. estimates of the economic impacts of repealing step-up of basis and 

2. case studies illustrating the potential impact of repeal of step-up of basis on family-owned 

businesses. 

The focus of the report is on replacing step-up in basis with taxing gains at death but moving to 

carryover basis is briefly discussed and a macroeconomic analysis of carryover basis is presented 

in an appendix. 

Step-up of basis for an illustrative family-owned business 

The role of step-up of basis in the lifecycle of an illustrative family-owned business can be seen 

below in Figure 1.  

This illustrative family-owned business was started from scratch in 2000 with an initial market 

value of $0. By 2025, when the founders of the business passed away and the heir became the 

owner, the business has grown to a market value of $550,000 with annual income of $40,000.4  

Under current law, no capital gains tax would be due when the original owner dies and passes 

the business onto her heir. In addition, the heir is allowed to step up (increase) basis from the 

former ownerôs basis of $0 to the fair market value of $550,000. This basis step-up shields from 

future tax the appreciation that occurred during the original ownerôs lifetime.  

By 2030 the heir has further grown the business to a market value of more than $710,000 with 

annual income of $50,000 and decides to sell. Under current law (step-up of basis), the heir would 

owe tax on a capital gain of $160,000, resulting in a tax liability of $32,000 (i.e., $160,000 x 20% 

tax rate).5 The $160,000 capital gain reflects the increase in the value of the business since 

inherited calculated as the $710,000 sales price minus the basis of the business of $550,000.  

As previously noted, there are two ways that step-up of basis can be repealed. One is to tax gains 

at death. The second is to replace basis step-up with carryover of the decedentôs basis.  

Repeal via tax at death 

With tax at death, there is an immediate capital gains tax applied at the time of the foundersô 

death. In the example of Figure 1, with a market value of $550,000 and cost basis of $0 there is 

a $550,000 capital gain triggered by the death of the founders. This results in a capital gains tax 

liability of $110,000 (i.e., 20% of market value less cost basis). Because the gain is taxed, the 

heirôs basis is increased from $0 to $550,000 to prevent double taxation of the gain. When the 

heir sells the business in 2030, the capital gain at that time is $160,000, the market value 

($710,000) less the cost basis ($550,000). This triggers another capital gains tax of $32,000 

($160,000 capital gain x 20% tax rate). Thus, summing the capital gains tax paid at the time of 

the foundersô death ($110,000) and that paid when the heir sells the business ($32,000), there is 

a total of $142,000 of capital gains tax paid by this illustrative family-owned business. Overall, in 
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this example taxing gains at death raises the capital gains tax by over 340% relative to the tax 

imposed under current law (i.e., $142,000 relative to $32,000 under current law). All the capital 

gain over the lifespan of the family-owned business between founding and sale is taxed.  

Compared to current law, taxing gains at death can be especially burdensome on the business 

because there is no sale out of which to pay the tax. In the example the $110,000 tax bill due 

upon the death of the original owner represents 275% of the businessô income in that year (i.e., 

$110,000 tax bill relative to $40,000 annual income in 2025). If there is not an additional source 

of ready cash, the liquidity squeeze from the tax may require the heirs to liquidate all or part of 

the business or secure a large loan. Both these and other potential financing options can impair 

the continued ownership of the business by the heir.  

Repeal via carryover of basis 

With carryover of basis, the transfer at death does not trigger an immediate capital gains tax. 

However, the heir is not allowed the step-up of basis. Instead, with carryover basis the heirôs basis 

in the bequeathed asset is the same as the decedentôs basis prior to death, $0 in the example. 

When the heir sells the business in 2030 the heir is liable for capital gains tax on any appreciation 

in the assetôs value that occurred during both the decedentôs and the heirôs ownership. That is, 

when the heir sells the business in 2030 there is a capital gain of $710,000, the market value of 

the business at sale ($710,000) less cost basis ($0). This results in a large tax liability of $142,000, 

or 284% of annual income in 2030.  

Assuming that the heir eventually sells the business, the total capital gains tax paid is the same 

when gains are taxed at death as when the heir receives a carryover basis. As noted above, this 

tax can be large; in the example it is more than 340% larger than the tax imposed under current 

law and represents 284% of annual income. However, compared to taxing gains at death, 

carryover basis delays the payment of the tax, making it less burdensome (because of deferral 

and the time value of money)6 and easier to plan for the eventual tax payment. In addition, it times 

the tax payment with the sale of the family-owned business, easing liquidity burdens on the 

owners. 

Nonetheless, carryover basis shares with taxing gains at death the problem of tracking and 

identifying the basis on inherited property and businesses. Properly measuring basis can be 

difficult because of incomplete records available to the heirs. An inability to document basis can 

have large tax consequences, especially if the alternative is to use a basis of $0. A previous 

attempt to implement carryover basis, the Tax Reform Act of 1976, was initially postponed three 

years by the Revenue Act of 1978 and ultimately repealed before ever being implemented by the 

Crude Oil Windfall Profit Tax Act of 1980. Prior to repeal tax practitioners noted significant 

difficulties in attempting to determine the basis of inherited assets.7 

Interaction with the estate tax 

In discussions of US policy, taxing gains at death would not be accompanied by repeal of the 

estate tax. Rather both would be imposed on the decedent (and ultimately fall on the heirs). Taxing 

gains at death on top of taxing an estate can impose a very high tax burden. For example, with a 

potential estate tax rate of 40% and capital gains tax rate of 20% this double taxation of gains 

could result in a 52% tax rate, assuming that the capital gains tax is deductible from the estate 

tax. That is, for every $100 of gain the heir would only receive $48 and remit the other $52 in tax. 
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This large tax liability can be especially problematic when the primary asset in the estate is a 

business as there may be little cash available with which to pay estate and capital gains taxes.  

Some other countries, for example Canada and Australia, that tax capital gains at death do not 

have this double taxation via additional estate or inheritance taxes. Rather, taxing gains at death 

is a substitute method of taxing wealth transfers. In the United States, both the estate tax and any 

efforts to repeal step-up in basis will create cash flow problems for family businesses and increase 

the likelihood that these job creators will be forced to close, liquidate, or leverage part of their 

operations, resulting in job losses and economic damage. 

Macroeconomic effects 

Taxing gains at death is estimated to have a number of adverse effects on the macroeconomy. 

These include: 

Ʒ a reduction in GDP of about $10 billion per year, or $100 billion over 10 years; 

Ʒ job losses of about 80,000 per year; and  

Ʒ lower wages given that about 1/3 of the burden of the tax increase is shifted onto labor 

because the tax-induced reduction in investment makes labor less productive.  
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Figure 1. Step-up of basis for an illustrative family-owned business 
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II. Estimated macroeconomic impacts of taxing gains at death 

This report examines the macroeconomic impact of repealing step-up of basis via tax at death. 

The effect of repealing step-up and taxing gains at death is to increase the tax cost of investment, 

which increases the rate of return that investments must earn in order to be profitable. As a result, 

investment falls. With less investment there is less capital available to each worker, labor 

productivity and the wages of workers drop, and, ultimately, Americansô standard of living 

declines. 

Estimates are produced using the EY Macroeconomic Model of the US Economy. In particular, 

step-up of basis is modeled as an increase in the cost of capital and the EY Macroeconomic 

Model of the US Economy then simulated how households and businesses would respond to 

such a policy shock. The modeling approach is described in more detail in the appendix. 

Estimates are presented relative to the size of the US economy in 2021.  

Summary of effects 

Ʒ The repeal of step-up of basis increases the cost of capital, which discourages investment 

and results in less capital formation. With less capital available to each worker, labor 

productivity is lowered. This reduces the wages of workers and, ultimately, Americansô 

standard of living.  
 

Ʒ Job equivalents. A significant portion of the burden of repeal of step-up of basis would 

fall on workers through reduced labor productivity, wages, and employment. Repealing 

step-up of basis via tax at death is estimated to decrease job equivalents by 

approximately:8 
 

Ʒ 80,000 jobs in each of the first ten years,  

Ʒ 100,000 jobs each year thereafter.  
 

Moreover, because labor productivity declines, about 1/3 of the burden of the tax is 

imposed on workers in the form of lower wages. 
 

Ʒ Gross domestic product (GDP). Repeal of step-up of basis via tax at death would reduce 

US GDP. Repealing step-up of basis via tax at death is estimated to reduce US GDP by 

approximately: 
 

Ʒ $10 billion in each of the first ten years; and 

Ʒ $10 billion each year thereafter. 

These GDP losses represent an approximately $100 billion decline over 10 years. 

Discussion  

In the EY Macroeconomic Model of the US Economy, a significant portion of the burden of repeal 

of step-up of basis would fall on workers through reduced wages and employment. Hours worked 

are estimated to decline, on average, 0.04% over the first ten years and 0.02% in the long run 

relative to the level that otherwise would have occurred under current law. This is primarily a result 

of the decline in the after-tax wage rate, which is estimated to decline, on average, 0.02% over 

the first ten years and 0.05% in the long run relative to what would have occurred under current 

law. Results can also be seen in Table 1. 
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These two labor market impacts ï a decline in hours worked plus a decline in the after-tax wage 

rate ï are summarized in the estimate of the decrease in job equivalents. This measure represents 

the equivalent change in jobs, holding the average wage rate under current law constant. When 

scaled to the 2021 US economy, job equivalents are estimated to decline by 80,000 jobs (0.05%) 

in each of the first ten years and nearly 100,000 jobs (0.06%) in the long run relative to the level 

under current law. Moreover, about 1/3 of the revenue raised from the tax effectively is paid by 

workers in the form of the tax-induced decline in labor productivity and hence in wages.9 

The repeal of step-up of basis is estimated to decrease the level of GDP by, on average, 0.04% 

over the first ten years and 0.04% in the long run. The long run denotes when the US economy 

has fully adjusted to the change in policy. When scaled to the US economy in 2021 this 0.04% 

decrease in GDP amounts to a $10 billion annual decline in the level of GDP relative to what it 

otherwise would have been under current law. These GDP losses represent an approximately 

$100 billion decline over 10 years. 

Table 1. Repeal of step-up of basis via tax at death 

  
First ten 

years 
Long 

run 
   

GDP -0.04% -0.04% 
After-tax wage rate -0.02% -0.05% 
Hours worked -0.04% -0.02% 
Job equivalents -0.05% -0.06% 
Capital -0.04% -0.08% 
      

Note: Job-equivalent impacts are defined as the change 
in labor income divided by baseline average income per 
job. Changes relative to 2021 US economy. Long-run 
denotes when the economy has fully adjusted to policy 
change; generally, 2/3 to 3/4 of this adjustment occurs 
within 10 years. 
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III. Family-owned business case studies 

The impact of step-up of basis on a business will depend on that particular businessô facts and 

circumstances. This section presents examples of how five illustrative family-owned businesses 

across different industries would be impacted by the repeal of step-up of basis. These illustrative 

businesses are as follows:10 

1. Family-owned steel manufacturer 

2. Family-owned farm  

3. Family-owned beer distributor 

4. Family-owned real estate development 

5. Family-owned ingredients manufacturer 

Illustrative example of a family-owned steel manufacturer 

Figure 2 displays the role of step-up of basis for an illustrative family-owned steel manufacturer 

and the implications of its repeal by taxing gains at death.  

This family-owned steel business was purchased for $10 million in 1990. After initially employing 

500 workers the business thereafter grew both organically and through a $5 million acquisition. 

By 2025, the value has increased to $50 million, the number of workers employed has grown to 

1,000, and annual income is $2.8 million per year.11 When the owners pass away in 2025 their 

family heir inherits the steel business. 

Under current law no capital gains tax is owed upon the ownersô death in 2025 and the heirôs 

basis would be stepped up to $50 million. In contrast, if gains were taxed at death, there would 

be an immediate capital gains tax liability of $7 million. This $7 million is calculated as the capital 

gains tax rate ï here assumed to be the top statutory capital gains tax rate of 20% ï times the 

capital gain triggered by the transfer of the business to the heir ($35 million). The $35 million 

capital gain is calculated as the market value at the time of death ($50 million) less cost basis 

($15 million). In this example, the cost basis is the amount the founders paid when they purchased 

the business ($10 million) plus the cost of acquisitions they made as they grew the business ($5 

million).  

The tax payment of $7 million under tax at death is equivalent to 250% of annual income in 2025 

and could create a significant liquidity squeeze for the family-owned steel manufacturer. This is 

because, as a capital-intensive business, a significant portion of the businessô value is tied up in 

illiquid manufacturing structures and equipment. To the extent other funds are unavailable and 

the tax is due immediately this could require the liquidation of some of the family-owned steel 

manufacturer and could negatively impact the distributor businessô ability to maintain its 1,000 

employees. 

If the business were later sold by the heir any appreciation during the heirôs ownership tenure 

would be taxed as a capital gain. This second capital gain, which would occur in addition to the 

tax at death, would be computed using a cost basis that reflects the market value of the business 

at the time of foundersô death to prevent double taxation.  
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           Figure 2. Illustrative example of tax treatment of a family-owned steel manufacturer 
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Illustrative example of a family-owned farm 

The example outlined in Figure 3 demonstrates the impact of repealing step-up of basis by taxing 

gains at death on an illustrative family-owned cow-calf farm.  

This family-owned cow-calf farm was purchased in 1990 for $2 million. Over the following years, 

the family grew the farm by purchasing $4 million of pastureland and growing and improving the 

cattle herd. By 2025, the farmôs value increased to $20 million with an annual income of $1 

million.12 The ownersô heir inherited the farm in 2025 after the death of the owners. 

Under the current step-up of basis law, there would be no capital gains tax on the transfer of the 

farm ownership in 2025 after the death of the previous owners. That is, the transfer of the 

ownership as inheritance does not trigger a capital gains tax payment.  

In contrast, if gains were taxed at death, there would be an immediate capital gains tax liability of 

$2.8 million. This tax is calculated based on the increase in the value of the family-owned farm 

since 1990. After subtracting the original basis ($2 million) and the land acquisition cost ($4 

million) from the market value at death ($20 million), the capital gains tax would be paid on the 

remaining $14 million increase in value. At a 20% tax rate, the tax bill would be $2.8 million. This 

one-time tax payment is equivalent to 280% of annual income of the farm. Given the land- and 

capital-intensive nature of the business, a one-time payment of $2.8 million (280% of annual 

income) could create a significant burden on the new farm owners and could force them to sell 

this family-owned farm.  

If the business were later sold by the heir, then any appreciation during the heirôs lifetime would 

be taxed as a capital gain. This second capital gain, which would occur in addition to the tax at 

death of the founder, would be calculated using a cost basis that reflects the market value of the 

business at the time of foundersô death ($20 million) to prevent double taxation. 
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Figure 3. Illustrative example of tax treatment of a family-owned farm 
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Illustrative example of beer distributor 

Figure 4 presents an illustrative example for the impact of repealing step-up of basis by taxing 

gains at death for a beer distributor. 

A family-owned distributor of beer and malt beverages was purchased in 1995 for $5 million. This 

business had 20 employees at the time of purchase but has grown between 1995 and 2025 

through natural growth and a $45 million acquisition. By 2025, the family-owned distributer has 

200 employees and is valued at $200 million. The business generates $12 million annually in 

income.13 In 2025, the owner died, and the heir inherited the business.  

Under the current step-up of basis law, the heir would inherit the beer distributor business at a 

stepped-up basis of $200 million without capital gains tax liability.  

If step-up of basis were repealed via tax at death, the decedentôs basis at death of $50 million ($5 

million initial basis and $45 million acquisition) would be used to calculate capital gains tax liability. 

Given that the distributor of beer and malt beverages is now valued at $200 million, there would 

be a capital gain of $150 million and tax liability of $30 million (20% of $150 million) upon the 

death of the original owner.  

The $30 million capital gains tax payment is equivalent to 250% of the distributorôs annual income 

($12 million). With the value of this family-owned business tied up in illiquid distribution structures 

and equipment, the immediate $30 million capital gains tax could create significant cash flow 

problems. This financial burden might threaten the survival of the business after the death of the 

original owner and could negatively impact the distributor businessô ability to maintain its 200 

employees. 

If the business were later sold by the heir any appreciation during the heirôs lifetime would be 

taxed as a capital gain. This second capital gain, which would occur in addition to the tax at 

death, would be calculated using a cost basis that reflects the market value of the business at 

the time of foundersô death ($200 million) to prevent double taxation.  
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Figure 4. Illustrative example of tax treatment of a family-owned distributor 
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Illustrative example of apartment property 

The illustrative example in Figure 5 shows the impact of repealing step-up of basis by taxing gains 

at death on a family-owned apartment property.  

A family-owned apartment building with 150 units was purchased for $4 million in 1990. Since 

then, the development has grown through $3 million of routine capital expenditures. Over this 

same time period, depreciation has totaled $6 million. By 2025, the value of this family-owned 

real estate has increased to $20 million with an annual income of $1.4 million.14 

The owners of the property died in 2025 and their heir inherited the apartment building. There 

would be no capital gain tax upon the death of the owners under the current step-up of basis law. 

The tax basis will be stepped up to $20 million in 2025, reflecting the value of the property upon 

the death of the previous owners.  

If gain was taxed at death, the ownerôs death would trigger an immediate capital gains tax of $4.1 

million. The gain at death is $19 million, calculated as the $20 million value at death less the 

adjusted basis at death of $1 million. The adjusted basis at death is calculated as the initial basis 

of $4 million plus the routine capital expenditures of $3 million less the depreciation expense of 

$6 million. If all of the gain were taxed at a 20% rate, then the tax due would be $3.8 million.  

However, a 25% tax rate must be used to calculate the $6 million of the gain that is due to 

depreciation.  This is referred to as a Section 1250 recapture and raises the tax due by $300,000 

to a total of $4.1 million (i.e., $6 million taxed at 25% is $300,000 higher than $6 million taxed at 

20%).  

This $4.1 tax amount represents 293% of the propertyôs annual income of $1.4 million. For a small 

family business, this immediate expense can create a significant burden, especially for a business 

whose value is tied up in illiquid structure and land assets.  

If the business were later sold by the heir any appreciation from during the heirôs lifetime would 

be taxed as a capital gain. This second capital gain, which would occur in addition to the tax at 

death, would be computed using a cost basis that reflects the market value of the business at the 

time of foundersô death to prevent double taxation.  
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Figure 5. Illustrative example of tax treatment of a family-owned apartment property 
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Illustrative example of ingredients manufacturer 

Figure 6 displays an illustrative example of a family-owned ingredients manufacturer and the 

implications of taxing gains at death for this business. 

The family-owned ingredients manufacturer for health and hygiene products was purchased in 

1985 for $5 million. Through organic growth and a $30 million investment into a new 

manufacturing site, the businessô value has increased to $80 million. By 2025 the annual income 

of the business is $3.5 million, and it employs 130 workers (up from 40 in 1985).15 

In 2025 the original owners of the business have died, and their heir has inherited the family-

owned business. Under the current step-up of basis law, there would be no capital gains tax and 

the basis would be stepped up to $80 million. In contrast, if gains were taxed at death, there would 

be an immediate capital gains tax liability of $9 million upon the death of the previous owners. 

This amount is calculated as 20% of the $45 million capital gain. This $45 million capital gain is 

calculated as the market value ($80 million) less the initial $5 million basis and the $30 million 

expansion costs.  

The $9 million capital gains tax liability represents 257% of annual income. Because the 

ingredients manufacturerôs value is tied up in illiquid operating structures used for the 

manufacturing process, a $9 million immediate payment can significantly harm the family-owned 

business cash flow. This significant tax liability could be problematic for sustaining the business 

and retaining its 130 workers.  

If the business were later sold by the heir any appreciation from during the heirôs lifetime would 

be taxed as a capital gain. This second capital gain, which would occur in addition to the tax at 

death, would have a cost basis equal to the market value of the business at the time of foundersô 

death to prevent double taxation. 
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          Figure 6. Illustrative example of tax treatment of a family-owned ingredients manufacturer 
 

  






















